
Nmax=26;

N=zeros(1,Nmax); N(14)=1; N(15)=1; N(16)=3; N(22)=2; N(24)=2; N(25)=5;
P=N/sum(N); %normalized probability distribution
j=1:Nmax; %array of corresponding ages

%<j>
bjb=j*P';
disp('<j>^2=');
disp(bjb^2)

%<j^2>
bj2b=(j.^2)*P';
disp('<j^2>=')
disp(bj2b)

%standard deviation through sum of squares of differences
dj2=((j-bjb).^2)*P';
disp('delta j=')
disp(sqrt(dj2));

%standard deviation through expectation values
disp('compare with:')
disp(sqrt(bj2b-bjb^2))

<j>^2=
   441

<j^2>=
  459.5714

delta j=
    4.3095

compare with:
    4.3095











P. 1.17 

(a)

 

(b)  

 


